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Please make sure that the printed pages in this question paper are 9 in number and it
contains 15 questions.

NOTE: The question paper is divided in to four sections (A, B, C, and D)

i) SECTION A consists of 1 Question (10 Objective Type Questions of 1 mark
each).

ii) SECTION B consists of 4 Very Short Answer type questions of 1 mark each.

iii) SECTION C consists of 7 Short Answer type questions of 2 marks each.

iv) SECTION D consists of 3 Essay type questions of 4 marks each with Internal
Choice.

Ale: U1 97 IR @3 (A, B, C, D) & sier I14m gl

i) YFAT A o 9T FCIT 1 H 1 37 o 10 TEJASS TR & 9T g

i) AT B H 1 3F & 4 7T oY 3N TR & 92 ¢l

i) @RI C A 2 3h & 7 oY 3HT THR & 9 g

iv) 99U D H 3dikeh [Ohed & T 4 37l & 3 A JhR & 9 gl

SECTION-A

1. All questions are compulsory and carry 1 mark each.

gaft ueaT e § 3R 9@ 1 37 7 ¢l



The function in a computer system responsible for performing arithmetic operations
is: / HYX AECH # ROy Hrdf I atel & fav IaerR B &

a) Cache / &ar

b) ALU / TTerg

c) Registers / €

d) Control Unit / sglel Jfelc

What is the binary representation of (705)s?
(705); T binary gfafafeca Far g2

a) 111000101

b) 110101001

c) 100011110

d) 101101010

In the context of computers, which of the following is a number system used?
a) Geometric

b) Alphabetical

c) Exponential

d) Decimal

YN & T A, ArATI@d # & i @ F&d1 Jomrelr &1 3uder fHar Jrdr §?
a) SaIfAdT

b) Tuilelsher

c) TTdhI g

d) cerHeld

Nishika found a crumpled paper under her desk. She picked it up and opened it. It
contained some text which was struck off thrice. But she could still figure out easily
that the struck off text was the email ID and password of Naman, her classmate.
What is ethically correct for Nishika to do?

a) Use the email ID and password to access Naman's account.

b) Approach Naman, inform him about finding the paper.

c) Share the information with other classmates.

d) None of these

fAfRIT @7 T S&h & AT #sT §3T UF FETST [Ael| 3T 38 3o AR Grerm| @A
o formr a1 St i IR Fre fear 2 an| A 3§ A § A 3T I fF Frer
AT THFEC 3Th TEITST AHA HI SHT 83T 3R graas a1 A & v Afdes w7
TET AT gram?
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a) A 33T R IrHas F IUANT HY AR AAA & FPEC Hl TFAT I
b) A FMTeT & IR # AT & el IR 30 FRd H
)
)

O

qHY HEUITSAT & 1Y SleTehy HIST &
d) 35 ¥ Fg AL

Criminal activities or offences carried out in a digital environment can be
considered as

fSfoiee ardraRer # 1 A arell IR afafafedt & g e Hehdl
gl

The speed of a microprocessor is measured in

ASHII[ET $r afa A AT S B

Machine Learning is a subsystem of Artificial Intelligence (True/ False)

e dIfeter 3nfefrfe sefosia &1 v Tafieed &1 (FE/Terq)

RAM is a primary memory device. (True/ False)

YA s grafAs AAN 3oy g1 (Fered)

Direction: In the questions given below, there are two statements marked as
Assertion (A) and Reason (R).

Choose the correct option out of the choices given below in each question:

fAder: S R a1 geat &, T (A) 3R #ROT (R) & &7 & RAfETT o a7 & 93
g2l H =i U 910 fadedt # & @@ [ahed &1 a3« HIfSC:

Assertion: Flowcharts help in understanding the logic of an algorithm.

Reason: Flowcharts are only used in math’s problems.

I. Both (A) and (R) are correct and (R) is correct explanation of (A).
[I. Both (A) and (R) are correct and (R) is not the correct explanation of (A)

[ll. (A) is true but (R) is false.
IV. (A) is false but (R) is true.

FYA (A): FAIE TeaMReH FI difolh Y THAS H Ace Fld ¢
HROT (R): FAMIIE shael IM0IT A FATIBN & 39T fFU a0 &
. (A)AR (R) ar=r T&r g 3R (R), (A) Fr T8 caream gl
. (A) 3R (R) ar=r @&r g 3R (R), (A) Fr T&r carear a8 gl
. (A) T § oifeet (R) 318cT gl
IV. (A) 39T g ofha (R) IcT &l



X. Assertion (A): Arithmetic operators in Python are used for mathematical
calculations.
Reason (R): These operators, including addition (+), subtraction (-), multiplication
(*), division (/), and modulus (%), perform basic arithmetic operations on numbers.

I.  Both (A) and (R) are correct and (R) is correct explanation of (A).
[I. Both (A) and (R) are correct and (R) is not the correct explanation of (A).
. (A) is true but (R) is false.
IV. (A) is false but (R) is true
FYT (A): TS H INARSE TR FT 39/ A0S 30T & fow Far Jrar gl
FROT (R): ¥ R, 518 S5 (+), ger@ (-), GO (+), e (/), AR A™iw (%)
enfAer 8, T3 W g 3iReafes e #id gl
I (A)AR (R) gt F&r g 3R (R), (A) Fr T8 <aream gl
(A) 3R (R) 2=t @& 8 3R (R), (A) H TEr carear gt &l
. (A @F g afhaT (R) 39T gl
(A) 38T § afda (R) @cT g

SECTION-B
(3THTIT-T)
All questions are compulsory. Marks are indicated against each question.

Tl geaT Iy & I AF 9T & 37k 3% A QU T g

2. What is a Flowchart? (1 mark)
T FAT g7
OR / ar
What is an Algorithm?
TeIMREH FaT 872

3. What is the full form of 10T? (1 mark)
loT T Pol BI& FT g2

4. Define the computer? (1 mark)

HegeX & aRenf¥d |

5. What is string data type in python? (1 mark)
9y H, R 3eT T3y 4T 87



SECTION-C
(3reTsTaT-ih)

Marks are indicated against each question.

UA$ 9T & 3 3% THA feT T gl

6.

10.

Explain the purpose of a "while loop" in python programming and provide the basic
syntax for its implementation. (2 marks)

Y AT & "Sgee oI & 36aT I AU AR 38F Hdeade & v g
fa¢erd gt Y|

How will Python evaluate the following expression? (2 marks)

Y AFATATE T TFAURNT T Hodlchel hd HaN?
5+ 20 ((13 + 2) - 9) /20

OR /=t
Write a python program to find sum of three numbers.

T I FT AT AT T & AT Tk g wane @)

Do the following conversions: (2 marks)
fAF=T FUTaROT *<:

(i) (10101111), = (?)16

(i) (23D)1s = (?)2

Explain any two differences between primary and secondary memory. (2 marks)

gEadl 3R Ahsd AFART & & SIS a7 Ja Tdv|

Priya is passionate about technology and is designing an app to help elderly people
schedule doctor appointments easily. She is currently finalizing the flow of the app and
the logic for appointment booking. She plans to use a structured approach to solve the
problem. (2 marks)

fOrar &1 dehelieh T 9gd WMk & 3R dF ol ool Y Siere IdigeATH I & AT
A H FGE Il & ol Tk VT BAST R WY ¢l a8 Thelgiel VT & Fall 3R 3igedc
gfehaT & diforeh 1 A &9 & W &1 9 Toh cIaiedd FAEIT FATUT TISCehlvT AT
Mg

i. Once Priya completes her algorithm and logic design, what should be her next
step?



11.

12.

F IRX I B venfew 3R dffoF Bemss g #X At &, @ 3eTer A F41 @
aTfew?
a) Deploy the app immediately.
o F G AT F
b) Begin coding based on the finalized logic.
3ifad w7 QU 1w iford & 3R 9T HIfET gF A
c) Change the app’s name before moving ahead.
3T dgo7 ¥ Uge VT & ATH dgel|
d) Take a break and start a new project.

S of 3R U FAT disiee Iqw A

ii. After the coding phase is completed, what should Priya focus on next?
FFET TROT U B & a1 R i frw W e S =nfew?
a) Ignore testing and prepare the launch event.
qETOT I 3T Y 3R dlea 3de Fr IR FHL
b) Conduct thorough testing on different devices and scenarios.
faffieer 3uetuil 3 aReedl W ol gdieTor Y|
c) Add more features before any testing.
farelr o TeTor & TR IR FRIETE S
d) Submit the app to app stores without testing.
fSaT qeoT & U9 TR A AT

Define the following terms: (2 marks)
farafaf@a erech s aRenia Hfgw
a) Phishing / fsfar
b) Cyberbullying /ATgsRgeiligar

OR/ =T
Explain Social Media and its Etiquettes.

arerer #fEar 3R 3@ Risemr i carear 7

Rahul uses his smartphone and computer for long hours every day. Recently, he has
been experiencing eye strain and headaches. He is worried about how technology use
is affecting his health. (2 marks)

e &Y e 3Tl TAIEHIT 3R HFTYER I ofd TAY Th AT AT &1 gTel & H, 39
@ A Fog R e Aeqy & w1 ¢l a8 [fdd § & aoedies & 39T &1 38
FAELT G FAT A 9IS @7 2



i)

13.

What health problem is Rahul most likely experiencing due to long screen time?
Tgel Y S HhIA TEH &F FROT i W T TAEAT § Fhell 82

a) Toothache / &id &&

b) Eye strain / 3@ & d=a@

c) Stomach ache / 9¢ &g

d) Hearing loss / goal # T

Which of the following is a good way to reduce the negative health effects of
technology use?

WA & 3TANT & AFRICHS FAELT THTET F FH FIA F Sl AT addT FE 82

a) Taking regular breaks from screen / Tl & AafAd s& o=

b) Using the device continuously without breaks / T & & RTAR T3aET & 39ATT
HAT

c) Ignoring health symptoms / TarELT FEIUN T 3eIcET el

d) Using only in dark rooms / &hael 379 AL H 3GINT el

SECTION-D (ﬂm-é’r)
Give the output of the following when num1 = 4, num2 = 3, hum3 = 2
(4 marks)
SI& numi = 4, num2 = 3, num3 = 2 & o f=faf@d & 3mseqe e

i) num1 += num2 + num3

print (num1)

i) num1 = num1 %+ (num2 + num3)
print (numT)
iii) num1 **= num2 + num3

print(num1)

iv) num1 ='5" +'§'
print(numT)
OR/M™AT
What is an operator? Explain any 3 relational operators with examples in Python
Programming language.



3TRET FAT §2? IIIAT FanfHeT AT F 3e8I0T & AT foheer 3 R TR $Hr earean
oy

14. Draw the block diagram of a computer system. Briefly write about the functionality of
each component. (4 marks)
HYN TAECH F1 olleh MW FAV| Yk Tceh I HRSTAT & aR H §&89 # fod|
OR/ ar
Explain the need for an operating system. Also, list and explain any two important

functions of an operating system.
AR ReeH $r aegerar wF FAsSTl W &, AR fFeq & ar Agcaqor &t 6
Al ST 3eTeh! auTeT AT

15. Write a short note on each of the following: (4 marks)
i) Sensors
ii) Smart Cities
fAFAfai@d W s digied feouoh faf@u:
i) dae
i) TATS T/
OR/ =T
Explain the following along with their applications.
i) Big Data
i) Robotics
3eTeh VAN o Ay fAeATi@d I earear a|
i) foaT 3er
i) ST



